PART - C
MATHEMATICS
(Marks : 100)
51) If = isdefined on G=Q—{13as a*b=a-+b—ab then the identity in (G,)is
G=Q-{ S * H a*b=a+b-abre IEDY (G*)BwE) &K HareBsn

1) -1 2) 1 (3) 0 (4) 2

52) The inverse of the element 8 in the group (Z,,,)is

D0 (272,.) 8° Laredo 8 Go8), QS0

(1) 3 2 1 (3) 4 47

3 3
53) The inverse of {o o} in the group G :{{g g}:ae R,a;to} w.r.t

multiplication of matrices is

a a e 3 3
GZ{O O}.aeR,a;&O} $K00se0S® erses Sr@8e &)k {0 0}

cﬁwé&c‘bé’szﬁao

3 3 11 -3 -3 -1 -1
1 2) |3 3 3 4) |13 3
ol ek elld e

54)  The number of generators of a cyclic group of order n is
n BBKE BOAS SBaSH SSrBAS exss Sresee Hoay

(1) §¢<n> @) 2 (3) ¢(n) (4) n

:
Qcollegeduma;
nnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnn m



55 Th 1:1:.1234567.
) e permutation 3245671 IS
1234586 7],
[3 2 4567 J@‘%ﬁém
(1) even (2) odd (3) both (1) & (2) (4) none
%8 B2 (1) & (2) Bokr D&z

56) If f=(1546) g=(234) are cyclic permutation then fgf =
f=(1546) g= (234) $8chH Hrocwond figf =

12 3 456 1 2 3 4 5 6]
(1){123456} (2)_563421_
123 456 (1 2 3 4 5 6]
(3)[136452} (4)_134526_

57) Gisagroup. His asubgroup of G. If a,beG and aH =bH then

G a8 30w H 90358 G &wé& S0P, a,beG DB
aH =bH eond

(1) abeH (2) ab*eH (3) b*aecH (4) b*a*eH

58) If H ={5x:xez} then the number of elements in % is
H={5x:x ez} ©ond ﬁ &% Sorosee Sowyg

1) 5 ) 1 (3) 0 (4) Infinite (e%8D85)

:
Qcollegeduma;
nnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnn m



59) G isacyclic group of order n with generator a. Then a™ is a generator of
Gif
n BB Ko a8 BB Smirin @nE) ess oo ata”
038 G BwE) 2238 Soreso N8

(1) m=n (2) m/n (3) (m,n)=2 (4) (m,n)=1

60) If G={0123456,7,89} is acyclic group w.r.t addition modulo 10 then —
i(H) =
G ={01,234,56.789}@058 $osel SrHso 10 &)aps a8 SEad
DBesTH0 oS i(H) =
(1) 5 (2) 2 3) 1 (4) 3

61) If Nisanormal subgroup of a group G and aeGthen
JEesEn G N 2o ©@De0s &HRGSESn 8050 acG ©wond

(1) NaraN=¢ (2) NazaN (3) Na=aN (4) none (Q&sed)

62) The number of all generators of (z,,,+,,) iS

(29:+p) T0E) @) 258 Sarosee Sogy

1) 4 (2)3 (3)6 (4)1

63) The characteristic of the residue classes mod 8 of a ring is
8 - EPHE 53R Sro Hodirds ergdBo

(1) 8 (2)0 (3) 2 (4) none (D&se)

64) If F isafield then the number of ideals in F is
F 5@°08 0&ahd) Sowyg

1) 0 (2) 2 (3) 1 (4) Infinite (e%6280)

:
Qcollegedumag
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65) The characteristic of the ring zxz is



1x7 G CEBEED
1) 0 21 3) 2 (4)3

66) Foraring (m,,+e)the set s ={§ ﬂ/ abe z} is

s = {a O}Ia,b € z} Q& (M, ,+,0) 558

0 b
(1) left ideal (2) right ideal (3) sub ring (4) none
AED &HS HE &3S &IP00%0 afatsitad

67) The set {a+hi/abez,i? =1} of Gaussian integers is
PROHS Frposee G K8 {a+hi/abeZ,i’=-1f o

(1) aring (2) an integral domain  (3) afield (4) none
a8 Hdeado Feopol (B E50 a8 8o BT

68) If f:R—R*isring isomorphism then which of the following is not true
f:R >R S00bh Hegdrsd wond & (Bod FBS° $85°08 H&

(1) If r is commutative ring then R* is also commutative

R DAH0H S00HPS  R! ErE DIL0H Sodho

(2) If r is an integral domain then R* is also an integral domain

R FPTR0E (SE5m wond R &rE o8 (©8F0

(3) If R* is afield then Rr is also a field

RSB R &S G0

(4) none

DO :
% collegedunias

69) If f(x) isdefined by f(x)=2xvxez then f:z—2z is



f(X)=2xVxez P 506‘5{’3':3_00 f:z 52z [PRDSHO

(1) Homomorphism (2) Epimorphism
Q0B QoS DapBHS
(3) Monomorphism (4) Isomorphism
@935§ Q0B B80S

70) If £(x)=3x" +4x? +6x, g(x)=4x*+x—4 are two polynomials in the
polynomial ring z,[x] then deg (f(x).g(x)) is
Z,,[x] 2555500 S00H0S® f(x)=3x* +4x> + 6x g(x) =4x* +x-4

e0 Both PHSS deg(f(x).g(x))=
(1) 4 (2) 6 (3)5 (4) none (D&s0K>)

71)  Which of the following is not a prime ideal ring
Bod AS® (D5 6t Socho 528

(1) @Q+) () (z,+,.x,)p-prime  (3) (C-+) (4) none (D&°E>)

72) If a isan unit element in an Eucledian ring R then d(a) =

5rERoHS Hocho R S aad el Sredo wowd d(a) =
(1) d() (2) d@) (3) d(2) (4) none (D&sEHd)

73) Inthering (z,,+4.%;) the associates of 2 are
(25,4, %) SOCHOSE 2 RBooE), Heesdoen

(1) 0,1 (2)3,5 (3) 2,4 (4) none (D&s°EHd)

74) If £, g are two non zero polynomials over aring rR and fg =0 then

deg( fg) Qcollegeduniag
R $0chop f,g e PS8 b05ihen B0 fg#0 @ONB iy, .o, " "



(1) <degf +degg (2) >deg f +degg
(3) <deg f —deg g (4) >deg f —degg

75) If A, B are vector sub spaces of v (F) then A; B_

V(F) 3030800508 A, B en earodtren @and A+B _

A A A B
1) — 2 — ©) — ) —

76)  The linear combination of the vector « =(1-2,5) w.r.t to the vectors
e, =111, e, =(123) and e, =(2,-11) is
e = (L), e, =(123) B e, =(2-11) &I aks o =(L-25)
DOE AE) ewver HOToerSn

(1) —6e, +3e, —2e, (2) —6e, +3e, +2e,
(3) 6e, —3e, + 2, (4) 6e, —3e, —2e,

77) If wis avector subspace of a finite dimensional vector space then
HOE HOKTE DOBTOSTEIL V8 W 28 SPoSTESD e9ond

(1) dimv<dimw (2) dimv > dimw
(3) dimv = dimw (4) none (D&=°K)

78) The rank of a quadratic form x*+y? +z? —t2 is
Ay 42—t o HBBrH0 Boog) S

1) 4 21 3) 2 (4) 3

79) Ifv,v,,... v,, are linearly independent in an n dimensional vector space

then
28 nd $0EPeR) HOToSTEOS® v, v, ,........ v, €0 2P Jeggolsmeen

oowd B EIEsRtiE
(1) m<n (2) n<m (3) m=n  (4) none (D)



80) If the system of vectors (1,3,2), (1,-7,-8), (21,-1) of v,(R) is linearly
dependent then a,b,c are
V,(R) B8 Sodinry S&den (13,2), (1-7,-8),(21-1) axew SHTefTeen

NS a,b,c e
(1) 3,1,-2 (2)1,2,3 (3)-3,1,2 (4)-1,-2,-3

81) If dim." =m and dim_." =m then {Hom, (v,w)}=
dim,.’ =m S83%0 dim." =m ©@ond {Hom. (v,w)}=

1) mn (2) n" (3) mn (4) n+m

82) If W, V are the finite dimensional vector space defined in the same field
then rank of T is
W, Ven &8 §Bo J8i00badsd H0hE Hokren ShTP0dTren @ansd

T &wE) S

(1) dimension ofK,,T (2) dimension of V

K, T 880 V 50500

(3) dimension of T(V) (4) none (D)
T(V) 5850ee90

83) If T is a homomorphism from the vector space U (F) to the vector space
V(F) and aeU then T(-a) =
U (F)ddz08te¥0o o& U(F) S830SBTPERnds T 088 08050

acl ©ond T(-a)=

(l) ta (2) - (3) —ta (4) a

:
Qcollegedumag
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84) The R® element in the range of the set {(1,11)10.1)} is £
{111)2,01)} $08& BwE) 5RS® R* Soreso



(1) 134) (2) (0,00) (3) (2,2,0) (4) (0,1,0)

85) If R* > R*T(x,y)=(4x-2y,2x+Y); B={{10),(0,1)} then matrix T =
R* > R%T(x,y)=(4x-2y,2x+Y); B={10),(01)} ®ons S»@E T =

(1) B ﬂ (2) [_42 ﬂ 3) E ﬂ (4) none (&)

86) U(F),V(F)are two vector spaces. T:U —V is a linear transformation. If U
is finite dimensional space then V(T)+/(T) =
U(F),V(F) Both ddarodtreeen T:W -V a8 200222000588 Y H80e

HBETETOSTHEO oG V (T) + P(T) =

(1) DimV (2)dimU  (3)dimU+dimV (4) none (d&s°H)
y+z z y
87) IfA=| z z+x x |then|A=
y X X4y
y+z z y
A=| 7  z+X X | ®ond Al =
y X X4y
(1) 4xyz (2) xyz (3) —4xyz (4) —xyz
1 2 3
88) |4 5 6=
7 8 9
M1 (2)-1 30 (4) 8
b*+c®> ab ac
89) ab c*+a’  be Qcollegedunias

ca cb a’+b?



(1) 4abc (2) 2a%b2c? (3) 4a’b’c? 4) 0

X x* 1+x°
90) |If x,y,z aredistinctand |y y? 1+y? =0 then xyz=

z z2° 1+72°

X x? 1+x®
X, Y,z &0 @95& 8)5)5&@3 O™ |y y® 1+y3 =0 ©900S Xyz =

z z° 1+72°

(1o (2)-1 @)1 (4) 2

-1 2 0
91) Therankofamatrix |3 7 1]is

5 9 3

-1 2 0

3 7 1| &wg) 5°&

5 9 3

(1) 0 21 3)-1 (4)3

92) If x,y are non zero row and column matrices then p(xy) =
X,y O30 RSB 08, H08 Fr@Sen wond p(xy)=

1) 0 (2) 3 @) -1 (4)1
2 -1 4
93) If|x 0 1]isasingular matrix then x=
1 2 0
2 -1 4
x 0 1|28 odgede Sr@8 ©ond x=
1 2 0
7 5 3 1
. @ @ @

:
Qcollegedunlas
nnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnn m

94) If A is 3x3 matrix and |A|=10then det(AdjA)
A 2.8 3x3 Xo@8, |A=10 ®ond det(AdjA)=



95)

96)

97)

98)

1) 100 (2) 10 (3) 1 (4) 1000

0 0 1
For the matrix |0 2 0/has
3 00

OF S(BES

w O O
O NN O
o O -

(1) Noinverse  (2) an inverse (3) two inverses (4) none
QS0 B DSH0 Bk B0 Eren B0 DO

.. .15 1
The characteristic roots of the matrix { 1 5} are

51
{ } &mé& ePEHRE Soeereen
1 5 ot

(1) 4,4 (2) 5,5 (3) 4,6 (4) none (D&sKHd)

If A, B are the n dimensional matrices p(AB)>
A Beo n &S558 Sro(@8en @and ((AB)>

(1) p(A)-p(B) (2) p(A)-p(B)-n

(3) p(A)+p(B) (4) p(A)-p(B)+n

If 4 is the characteristic root of A then the characteristic root of adja
L0360 A RooE), erFHE 00 ©ONS adiA G ePERE Lureo

uuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuu



m 4 @ ON O P

a h g
99) Theeigenvaluesof |0 b 0 |are
0 0 c

a h g
a. {0 b Olcﬁwégy ONR Denden
0 0 c
(1) ab,c (2) —a,—b,—c (3) a2,b?,c? (4) —a?—b?—c?
8 -6 2
100) If 3 and 15 are two eigen values of the matrix A=|-6 7 -4/ then the
I
third eigen value is
8 -6 2
(B A{—G 7 —4}@:«3%&80(‘53 058 Denden 3 LHBA» 15 wond
2 -4 3

e SoeEN N Dend

(1) 0 (2) 2 (3) -5 (4) 12

101) If (3-2,4)111),(-14,~2) are collinear then (c; A, B)is
(3-2,4Y111),(-14,-2) &5 HotHshen $THATen wowd (c; A B) 05058

(1) 1:2 (2 -1:2 (3)-2:1 (4 2:3
102) The radius of the sphere determined by the points

(1,-5,-3),(0,-6,-1),(- 2,-2,3),(1,—2,0) is
(L-5,-3),(0,-6,-1), (- 2-2,3),(1-20) &3 DothHHer V80T FPeR8 TgIGo

1) 3 21 (3)4 (4)5

103) If A(-1,07)B(32.t)C(53-2) are collinear then t is Qw"eged”“'a
A(-107),B(32,),C(53-2) &0 $BRSren wand t Gng) Jend



104)

105)

106)

107)

108)

(Y 21 3)-1 (4) 2

The equation of the plane through (2,-1,0) and (3,—4,5) and parallel to the
plane 3x=2y=z

(2,-1,0) 0850 (3,-4,5) oD hHore & 3x=2y=7

Eerd8 JdrodBore B DB Seasim

(1) x—4y-9z=70 (2) 33x—4y-9z-70=0

(3) 33x+4y+92=70 (4) none (Dd=D)

The image of the point (1,3,4)in the plane 2x—y+z+3=0
2x—y+2+3=0 $00&° (134) GnE) [HSDoadw

(1) (35,2) (2) (-3-5,2) (3) (-352) (4) none

The distance from the point (3,4,5) to the intersecting point of
X-3 y-4 z-
1 2
XIBZ y;“: Z;5 HBAW X+ y + 2 =1790B0HET Dot 508 (3,4,5)

B Ho Srdo

® and X+Yy+2z=17 IS

(1)2 (2) 4 3) 0 (4) 3

The centre of the sphere x? + y? + z2 + 6x+ 2y — 4z +141S
X2 +y? + 2% 46X+ 2y — 4z +14 FO¥Ew @ooégyéo@éw

(1) 3-12 (2) (312) (3) (3-1-2) (4) none

The equation of the sphere passing through the points
(0,0,0),(1,0,0),(0,,0),(0,0,1) is Qcollegedunia;
(0,0,0).(L0,0),(010),(0,01) ooz DEGH F¥dw FwE) vWESeaS® - m



109)

110)

111)

112)

113)

(1) xX*+y*+2°—x-y-z=0 (2) x*+y*+2°-2x-3y-2=0

(3) x2+y?+22+2x+3y+2=0 (4) none (D&se&d)
The length of the tangent drawn from a point (3,1,-1) to the sphere

x?+y?+22 -3x+5y+7=0 IS
(31-1) o0& x?+y?2+22—3x+5y+7=0 o8 AS ‘éq)dgéaa LD

(1) V12 (2) V14 (3) 12  (4) 14

If x? +y? +2z2—a?=0 is asphere then the pole of the plane
IX + my+nz=p(p=0) IS
x> +y?+z°-a*=0 CS@%‘;S IX +my +nz = p(p=0) GB0E) )50

I 2| 2 2
@ (a—ﬂﬂ] @) [a—amﬂ]
p p P p p p

3) [a_p' a;m ﬂj (4) none (56s+5)

The pole of the plane x -y +5z-3=0 w.r.t the sphere x* + y? +z> =9
R 8)ofs X~y +52—-3=0 Son ToE) &80

(1) (3-315) (2) (3315) (3) (-3,-3,-15) (4) none

If x* +y?+2z%+2ix+d =0 represents a coaxal system of spheres and
d =0, A =0then the limiting point is
X2+ y2 +22 +2Ix+d =0 O30 Jese FEEISHBI 267°€)_«33 HoB» d =0,

1=0 ©ond °l AR

(1) @) (2 (000) (3) (222) (4) none (&)
The limit point of the set { N ne N} is Qcollegeduma

2n+1




n .
{2n+1.ne N} Fs) w50 Dot

1

(1) 0 21 ) 3 (4)

114) If sn:i+i+i+ ..... +— 1 then {s,}is
1.2 23 34 n(n+1)
sn=i+—+i+ ..... 1 wond {s, } @&
12 23 34 n(n+1)

(1) Convergent (2) not convergent

8008 [STANSTole IR AN

(3) cannot be determined (4) none

QD0 L 0 fatsites)
115) If f:R—R is defined as f(x)—=% for x=0 and f(0)=1 then f at x=0

IS

f:R>R D f(x)—:%,x;ﬁO 0B f(0)=17v :06(5%1)‘5_00 X=0 38 f

QeND

(1) continuous (2) not continuous

OAD)NO @8):257326&0 o0
(3) can not be determined (4) none
5065{1)07:5826)3 afatsita)

116) |If the function f defined by f(x)=2x+1 if x<1, f(x)=ax® +b If 1<x<3,
f(x) =5x+2a If x>3 is continuous then
fOR (PR00SWR f(x)=2x+1, x<1, f(x):ax2+b’ 1<x<3,

f(x)=5x+2a,X>3 ©IYH0 ety BN ©H

(1) a=1b=2 (2) a=1b=1 (3) a=2,b=1 (4) a=Qcollegeduniaé

117) The Rolle’s constant "C" for the function f(x)=(x—a)™.(x—b)" IS



f(x)=(x—a)".(x—b)" [HRHS05E &5 RP0oBHw "C" @8

(1) a+b (2) ab (3) ma+ nb (4) mb + na
2 m+n n+a

118) The constant C of Cauchy’s mean value theorem for f(x)=+/x and
1 in[a,b] where 0O<a<b is

Q(X):T

X

O<a<b ®@ow [a,b] & f(x)=+/x 0B g(x):% 3% 5% Bogigd Dendd
X

?ocssoééaéw (=80 C ?&ymoé:ﬁw

(1) Vb @a @2 (@) 22
119) If f(x)=2x-10n [0,1] and p={0,% % } then U(p, f)=

[01] 05 f(x)=2x-108c%» p= {0%% }eso»é U(p, f)=

1 1

(1) 0 (2) > 3) 3 (4) 3
120) Jj[x]dx:

1o 2)1 3) 2 (4)3
121) LZ (sec’ x —tan” x)dx =

D (2)2 @) 2-7 (@) 2+

122) If  is continuous on [a,b] then C e (a,b) such that jb f (x)dx =
(a,b) S f ©DYFo WOK®  C e (a,b) FREPE [ f (x)dx =

W e-are @e-af@  @earo O 6 mliegedunia

nnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnn



4 2
123) The order of the differential equation y =x —(%j + 1+ (;XZ IS

dy)’ d’y “
y=X—|—| + 1+d7 SBooE) 0BT°e0
1) O (2)1 (3) 4 (4)2
124) The solution of e*(x? + y? + 2x)dx + 2ye*dy =0iS
e (x* +y? +2x)dx + 2ye*dy =0 RBooE) P
(1) e (x* +y*)=c (2) e (x* —y*)=c

(3) x2—y? =0 (4) none (H&s0%)

125) The integrating factor of x% +y=y’x®
X

x% Fy=yix @8 SEEE0S HEo
X

(1) x? (2) x?y? (3) log x (4) none (H&s°%)

1 2X
120) o219 "
(1) —xe® (2) xe* (3) xe™  (4) —xe™

127) The solution of (D? + AD +3)y =0
(D? + AD +3)y =0 &%) S

(1) c,e™-C,e™ (2)ce™+c,™
(3) ce™ +C,e* (4) none (D&s°Ed)
128) The particular integral of b s
(D -a)’

1
(D -a)’

e QW) @Jéﬁ POPVOLSISHY

:
Qcollegedunlas
nnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnn m



2 qjax X2 —ax XZ ax 2 q—ax
(1) x% (2) e (3) e (4) x2e

129) The complementary function of (D+1)(D-2)"y=e* ¢
(D+1)(D-2) y=e™ Bw&) 88 (Do

(1) (C,+C,x)e™ +C,e* (2) (C,+C,e* > +Cpe™
(3) Ce™* +C,e> (4) none (H&se>)
d?y

130) The solution of the differential equation +y=0 which satisfies

X2

y(0) =1, y(%) =1is

y(O) =1 y@zl 5 2568 9V 1 y-0 estes sste 6

2
dx?
(1) Cosx + Sinx (2) 2(Cosx + Sinx)

(3) Cox+2Sinx  (4) none(ddseeH)

131) The solution of the equation y? —2pxy + p?(x®> —=1) =m? S
y? —2pxy + p?(x* =) =m? &o¥) B

(1) y=cx++c® +m? (2) y=cx+t~c? —-m?

(3) y=cx®£+/c® +m? (4) none (DoseeH)

132) The differential equation corresponding to the family of corves
y=Ae? + Be?* for different values of A and B is

QAP A, B Jenden Ko y=Ae? +Be ™ JB Bénoere @wé& [SINTON)

$&H88e0
A collegedunia
(1) y* =4y (2) y* =4y -



133)

134)

135)

136)

137)

138)

(2)(3) y* =2y (4) none (Dbseed)

The differential equation whose solution is y=c.e®* +C,e ™
y=Ce? +C,e? PFI™ Ko od8od 3880

O @y @ (Y -y @8] -w

The orthogonal trajectories of y=ax" is y =ax"
y =ax" Boog) ©oe KoREBo

(1) x*+y*=c (2) nx*+y?=c (3) y?+nx?=c (4) x" =ay

If (a,b)=1then (a?,ab,b?) IS
(a,b) =1 ®o0& (a?,ab,b?) LS5

1) o (2)3 31 (4) 2

The number of solutions of 4x=3(mod 8) in the interval [0,8]
[08] @oBB5NS® 4x=3(mod 8) 8 Ko JFare HSowyg

(Y (2)3 (3)4 (4)1

If x2 +ax+10=0 and x? +bx —10 have one common root then a? —b? =
X2 +ax+10=0 DB x? +bx—-10 e 2.8 %Zﬁa&& é))ﬁe)"@& EOAXN0E

O a® —b? =

(1) 20 (2) 10 (3) 30 (4) 40

The digit in the empty place of a number 3-27 to be divisible by 9,3
3- 27 Doy 9,3 © Ségéom ePAOSTRO08 god 3(;260@3‘5

&) ®O8 GOT*d
Qcollegedunia;
(l) 6 (2) 3 (3) 5 (4) 9 i trgestSudent Review Plttor i



139) From which least number 5 is subtracted then that number is completely
divisible by 12, 16,20
Q é@g Logyg ol 5 SIS @b 12, 16,20 o éO%fgoﬁom PA0S0E%

(1) 425 (2) 542 (3) 245 (4) 254

140) The inverse pairs of Z, ={01,2,3,4}
Z,={01234} &%) a0t DS Hen

(1)1,1and 2,2 (2)2,3and 4, 4
1,1 8o 2,2 2,3 00w 4,4
(3)0,1and 1,3 (4) none

0,1 S08c%» 1,3 INat=Tn

141) If n>2then ¢(n) is
N>2 ©@ond ¢(n) @58

(1) even (2) odd (3) even and odd (4) none
%8 ALY %8 85w T St

142) The smallest integer so that ¢(n)=6
#(n)=6 @cﬁ)?géae;g St @"U;Oé Loz

1) 3 (2) 4 3)7 (4)8

143) For what values of x the expression x? —5x+6 IS positive
R x DD x% —5x +6 JAeHo AtLYSle

(1) (2,3) (2) {23} (38) 2<x<3 (4) x<2 or x>3

144) If K(@6x* +3)+nx+2x> -1=0 and 6k(2x* +1) + px+4x> -2=0 he&co”egeduniaé
roots common then 2n — pvalue is R "
K(6x? +3) +nx+2x> —1=0 008330  6k(2x? +1) + px + 4x> —2=0 ©¥ Bo&d



Soreren 288 @ond 2n - p GE) Deod

1)2 (2)0 (3) 4 (4)3

145) If the product of roots is 7 of the equation x*—3kx+2e*°*%* —1=0then to
become the roots are real the value of k is
x? —3kx+2e?°% —1=0
©X HEBE0 Go¥) Korere KD 7 WoNS, MWEPLD TPRTW BIHLE

k &8 Dend
(1) 2 (2)3 (3) 4 (4) none (D&sHd)

146) The roots of [x* —x—6/=x+2 are
‘xz —x—6‘=x+2 & Sogeerren

(1) 0,1,4 (2) 0,2,4 (3) -2,1,4 (4) -2,2,4

147) If the roots of x? +ax+ =0 are 8,2 and x* + ax+b=0are 3,3 then the
roots of x*> + ax+b=0 are
X2 +ax+ f=00meren 8,2 HBAM x? +ax+b=0 ooeeren 3,3 wond

x? +ax+b=0 Xogreren
(1) -2,-8 (2) 9,1 (3) 2,-9 4 1,-1

148) If the roots of Kx* +1=Kx*+3x-11x* are real and equal then k =
Kx? +1= Kx® +3x —11x* Soreeren aedaren, $&maren oond k =

(1)-7,-5 (2)-7,5 (3)7,-5 (4)75

149) If «, p are the roots of x* — p(x+1)—c then @+ a)L+ B) =
x? - p(x+1)—c Someren o, f ®oNS (1+a)l+ f) =

(1) p-c (2) p+c (3) 1+c (4 1+p-c

1 Qcollegedunia;

150) If «, p are the roots of the equation ax? +bx+c=0 then
aa+b ap+b




1 N 1
aa+b apg+b

a, B0 ax? +bx+c=08 Hreren ond
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